Assembly Instruction

2301Q/F

Please don't tighten the screws completely and go back later for a final tightening of all the
screws after pieces are aligned with each other.

Page 1/8




Assembly Instruction



。
Line

。
Line

。
Circle


Assembly Instruction

Hardware arts

v | T 0 ! ¥ j] Eﬂ

M6*15 M6*45 M6*10 M8*20 M8*55 M4*16

4 5#
[ A JPII @ ropcs @ orcs @ 14pcs @ 7rcs @ 2rcs ® rC O 1~

Al

@ 2rcs @ 2rcs @2rcs @ 2rcs (5 Jile O ~c @ orcs ©O2rcs  @©1rcC

Part list

iy
Crash pads
\
Q@ rc ® rc ® P (13}]Je @ e @z\pcs Orcs @rC

Page 3/8




Assembly Instruction
Step:1 w GX 6PCS GTQX 1PC Step:2 m GX6PCS
ﬁ6 zepcsg ., @xipc g:°4# @ :rC
IC 9
Q' g

Y

-
-
-
-
¢ -

1

1 e
1

1
1

1
1

1 24
1

1
1

1
1

> -

-

Page 4/8




Assembly Instruction

Step:3

@mems @ x 4pcs

T, @xarc

Step:4
P I—m @ x 4pcs

M8*55

( ., @ x1pc

Please pay attention to the
[ direction arrow in the illustration

-— to avoid reverse installation

Page 5/8




) =))
520 @ x 6rcs

©@x 1PC

Page 6/8

@x 1rC

S5#

Assembly Instruction

Step:5




Assembly Instruction




Assembly Instruction

There is a small sealing pocket in the package. There are two pieces of
double-sided adhesive tape and two crash pads in the sealing pocket. As
shown in the figure below,

Crash pads

Please tear off
the surface
anti sticking
sheet and stick
the
anti-collision
cushion on it

Page 8/8




